Y & g @ e /
No. of pages in Booklet
qir § Wl B W@ /

No. of Questions in Booklet

156

20002717

TR U QReRT W/
Question Paper Booklet No.

{7 / SUBJECT :
Book-Keeping & Accounting,
B.M., Auditing, Ind. Eco.,R.S.R. &

Subject Code

e gitm mn

Booklet Series

02

GE&AR

0T : 2.30 9o
Time : 2.30 Hours

1. =t ueEt & gar e |

2. wvit ueEt ¥ st IEE ¥

3, VO W W % 0F § 60 Sy ¢

4, T AE TR W W G N v T I B e WA |

5. W W ¥ AR defern wew Rd md R e 1 2, 3,
4 3t fm e & | ovaedt W e R TR g oo
¥ FT T MR AT TET B I 9FF | A afer
T U § e T 8 |

6. OMR W U 50 e fet & o2 @ & | W s
T ThTH Wiem # % g, @ v 9% P #v¢
= e i =i uiie 99 @ frawor oF

7. W T ST S P s st w 1/3 M e SR 1 e
TR G A G I v R o v % v § ot
SRR T | et ot wew @ dEhm i @ 99w o @l ste
O I TE AR ST |

8. WHL.UN QRIS U§ I wAw F ferwrd W Wier @ W
Rt 78 g #¢ o fy s9% v e T ag
o e FEm iR ¥ ot 3w e @ o g w
3T & 1 5 FiE T @ o dew R Tew % @ W
(W) e IR0 S e e S 3 T e
st anad @ gl

3 TR R s FiReE 4 @ e der § i ot
afeer € ) afy Tt aveaet ¥ ww R wE SR @
frert & @ Sw% faeg amaT IR PrawrEr waE =
L1 L A

10. T G Jeh T FACHAN. T3 T TGS wot
R | TR S S AT AT W W § oF T A
# ot = @ B o | '

1. i fodt s 31 Reelt wme % 1 T a1 AT e A
i & @ wer & fedt wn il wURE F @ sith =R
e o '

AR SR H ang} T wRd TweT ST € AT 39 9

ﬁﬂ%mﬁwmﬁvﬁmﬁtwm&ﬁ%ﬁw%ﬁ

R Tot W qu Rty PRt & deq wdat @

ST | W R O avadt wt whver o @ areh fam 8

T qmmatt @ frafia aw v ¥

o=l

Paper-I1

Iftrmay 3 : 450
Maximum Marks : 450

INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

. Only one answer is to be giver for each question.

If more than one answers are marked, it would be treated as
WIORE answer. :

Each question has four alternative responses marked serially
as 1, 2, 3, 4, You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When you
are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only,

7. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer, (A WIONg answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer).

8. The candidate shouid ensure that Booklet No. of the Question
Paper Booklet and Answer Sheet No. must be same after opening
the eavelops. In case they are different, a candidate must
obtain another Question Paper of the same series. Candidate

- himself shall be responsible for ensuring this.

9. Mobile Phone or any other ¢lectronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with himm/her will be strictly
dealt as per rules.

10. Please correctly fill your Roll Nurmber in O.M.R. Sheet,
5 marks can be deducted for filling wrong or incomplete Rotf
MNumber,

11. If there is any sort of ambiguity/mistake either of printing oz

factual nature then out of Hindi and English Version of the

question, the Enplish Version will be treated as standard.

BN =

bl

Warning : If a candidate is found copying or if any unauthorized
maierial is found in his/er possession, ELR. would be lodged
against himfher in the Police Station and hefshe wonld liable 1o
be prosecuted. Department may also debar him/her permanently
from all future examinations.
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Stock of ¥ 4,000 is destroyed by fire. It was fully covered by insurance. Acéounting entry
is - _

: _ R 4 T

(1) Stock Alc Dr 4000 _
To Trading A/c ! _ | 4,000

2y P&LA/. Dr| 4,000
To Trading A/c. | 4,000

(3) Trading A/c. - Dr. 4,000

' To Insurance Claims Alc, 4,000

4 Insurance Claims A/c. Dr. 4,000

~ To Trading A/c. o 4,000

Columnar Cash Book records
- (1) Cash transactions only. .

(2) Both cash and bank transacfion!s excepting discounts.
(3)  All cash transactions excepting cash purchase and cash sales.
. {4) Both cash and bank transactions including discounts.

Cash sales of ¥ 3,550 was posted as T 3,505. The rectifying entry will be

: 4 T
(1) Cash Afc, Dr. 45
: To Sales A/c. ' 45
(2) Suspense A/c. Dr 4§
To Sales Afc. ' 45
(3) Cash Afc. Dr 45 .
) To Suspense A/c. 45
(4) * Sales Alc. - Dr 45
- To Suspense Alc. | 45
SPACE FOR ROUGH WORK




ﬁﬂﬁﬁwéﬂ%ﬁﬁwﬁwqﬁm%?

(1) et = e swam (2) g
(3) STTECH (4 s
qﬁr@ﬁaﬂ)ﬁﬁ:%aﬁaa@maﬁnﬁ%
(1) wof ot & forg feem (2) & | §F
(3) & e el 4) aéara&%ﬁmmm
fagend - w1 TEwal

| ) )
o | 30,000
T : 13,000
byl 16,500
a&%wmm?4oo0%mmﬁﬁnﬂ|ﬁaﬁnﬁ1maﬂﬁwaﬁv
(1) ¥12,500 .2 €16,500
(3) % 17,000 | (@) T20,500
it T E Y ?

(1) e feat Y o+ oifer Wi - wrifite @i = W
(2) e R F oA - oifi Wi - T = =
(3) wifies w@eE + Sk € - e st @ e = SR
(@) i Wi - 7er st Y T + TR e = A

e T AR W T g Y sl e ST e

(1 sufsw g (2) i ST
(3) TEenEd : 4) s T

, TG T oh (7 &

4 Series-A



Which one does not reduce the cost of assets ?
(1) Constant use of assets (2) Accident

(3) Obsolescence (4) Insurance

Series-A _ 5

5. Under annuity method, the amount of depreciation is
(1) Fixed for all years (2) Increasing every year
(3) Decreasing every year (4) Fluctuating from year to year
6. Given _ .
January 1 December 31
(4] ®
Assets - 30,000
Liabilities 13,000
Capital 16,500
Withdrawals by owner during the year are ¥ 4,000. What is the amount of capital on
January 1 ?
(1) T12,500 j (2) ¥16,500
3> 17,000 4) 20,500
7. Which of the followings is correct ?
(1) Cost of goods sold + Closing stock —~ Opening stock = Purchases
(2)  Cost of goods sold — Closing stock + Opening stock = Purchases
(3)  Opening stock + Closing stock — Cost of goods sold = Purchases
(4) Closing stock — Cost of goods sold + Opening stock = Purchases
8.  “Interest earned but not received” should be classified as
(1) Accrued Asset (2)  Accrued Liability
(3) Prepaid Expense (4) Unearned Revenue
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9. If profits are 1/4 of cost, what is the share of profit in sales ?
1 173 2) 114
(3) 1/5 4) 1/6

10. The main object of the average clause is to
(1) Encourage comprehensive insurance
(2) Discourage under insurance
(3) Discourage full insurance
(4) Encourage under insurance

11. Which one is not the accounting concept ?
(1) The entity concept (2) The going concern concept
(3) System concept (4) The Dual-aspect concept

12. With reference to consequential loss claim, which is the correct formula of calculation of
percentage of gross profit on sales ?

I Loss of stock X Insured amount of stock
) Total stock in the godown on the date of accident

Loss of stock X Insured amount

2) Value of total stock
3 Last year net profit before tax + Insured standing charges 100
3) Total sale of last year X
Gross profit
4) Total sales < 100
13.  Which one is the method of depreciation accounting ?
) T_otal cost method : (2) Depletion unit method
(3) Prime cost method ' (4) Cost price method
14. When two firms amalgamate, general reserve is transferred to
(1) New firm’s account (2) Revaluation account
(3) Partner’s accounts - (4) Liability accounts
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15.

16.

17.

18.

19.

A, B, C and D are equal partners. A, B and D die together in a plane crash. The accident

results in

(1) Amalgarriation of partnership -

(2) Reconstruction of firm

(3) Dissolution of firm as well as dissolution of partnership
(4) | Netither dissolution of firm nor dissolution of partnership

“Outstanding Expenses A/c” is

(1) Personal Account (2) Real Account
(3) Nominal Account - (4) Bank Account
If a store’s mark up is 25%, the margin must be

(1) 5% 2) 15%
(3) 10% 4) 20%

The term “Marshalling” is used in case of |
(1) Trading Account (2) Profit and Loss Account
(3) Balance Sheet (4) Manufacturing Account

A cheque returned by bank marked “NSF” means that
(1) Bank cannot verify your identity.

(2) There are not sufficient funds in your account,
(3) Cheque has been forged.'

4 | Cheque cannot be cashed being illegal.

20. The decision of Garner Vs, Murray was given in
(1) 1904 . (2) 1905
(3 1933 _ (4) 1804 .
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21, Who is the founder of Modern Accounting System ?

22.

23.

(1) Batliboi (2) At
(3) Lui ' (4) Lucas Pacioli

Contingent Liability is shown due to

(1} Convention of full disclosure (2) Convention of conservation

'(3) Convention of materiality (4) Dual Aspect Concept

Which of the following is true regarding the Prudence Principle of Accounting ?
(1) Taking care of future losses (2) Taking care of future profit

(3) Taking care of bad debts (4) Taking care of inventory |

A business has assets of T 44,312 and owner’s equity ¥ 13,210. What is the amount of
liabilities ? :

(1) ¥31,102 (2) T57,522
(3) T44,312 4 T13210

Profit is calculated by using following formula in single entry system :

(1) Opening capital + Drawings — Additional capital ~ Closing capital -

- (2} Closing capital + Drawings + Additional capital — Opening capital

3) Closing capital + Drawings — Additional capital — Opening capital

| (4)  Opening capital — Drawings + Additional capital — Closing capital

SPACE FOR ROUGH WORK
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26.

27.

29.

34.

31.

The process of narrowing a large number of candidates to a smaller field is called

(1) Rushing (2) Recruitment
(3) Selection (4) Enrolment

The cheapest source of finance is
(1) Debenture (2) Equity share
(3) Preference share (4) Retained earnings

The Negotiable Instruments Act includes cheque, bill of exchange and....

(1) Promissory Note (2) Bank Draft
(3) Hundi ' (4) Customary Note

The payment of a negotiable instrument becomes due
(1) at maturity (2) after maturity
(3) before maturity (4) on third day of maturity

A company is called an artificial person because
(1) itis invisible and intangible.

(2) it cannot be used in the court of law.

(3) it does not have the shape of natural person.
(4) it exists only in contemplation of law.

Which is not a benefit of being an entrepreneur ?
(1) Being your own boss.

(2) Being ablé to do work you’re interested in.

(3) Setbacks for which you are solely responsible.
(4) Earning a large profit.
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32.

Social responsibility involves

(1) Voluntary action by business enterprise
(2) Balancing power with responsibility
(3) Recognition of moral obligations

(4) All of the above

33. Which of the following is an internal source of finance ?
(1) Bank loan : (2) Venture capital
(3) Ploughing back (4) Issue of share
34, “The use of borrowed funds, at a fixed cost for financing firm is known as .
(1) Trading on equity (2) Trading on thin equity
(3) Trading on thick equity (4) Capital gearing
35. Diminished effectivgness of advertising as GPRs accumulate over time is called
(1) bumout (2) wearout ‘
(3) decayrate (4) negative response rate
36. Which of the following is not a internal source of recruitment ?
(1) Transfer (2) Promotion
(3) Deputation (4) Internal Advertisement
37. “Grape Wine’ is the term used in relation to
(1) Formal communication (2) Informal communication
(3) Borizontal communication (4) Vertical communication
38. Which one of the following is not the remedies fof removing of communication barriers ?
' (1) Organization structure (2) Work position
(3) Individual differences (4) Information overload
SPACE FOR ROUGH WORK
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39.

“Co-ordination is the essence of management.” This statement-is
(1) Henry Fayol (2) Peter F. Drucker
(3) Mary Parker (4) Koontz and O’Donell

Which of the following is co-ordination technique 7

40,
(1) Voluntary Group work spirit (2) Increases in Image
(3) Success in Objectives (4)° Common Nomenclature
41. Recruitment is the process of searching for the prospective employees and stimulating
them to apply for an organization.
(1) Jobs (2) Wage
(3) Cost (4) Termination
42. Donald Kirkpatrick was known for creating the .training
(1) Calender (2) Module
(3) Evaluation Model (4y Objectives
43. Which is the pre-requisites of HR Planning ?
(1) Time, Money and Resources (2) Helpful in selection
(3) Control on wastage of HR (4) Changes in laws
44, Under the Consumer Protection Act, complaint means
(1) Allegation in writing (2} Oral allegation
(3) Claim in writing (4) Oral claim for damage
SPACE FOR ROUGH WORK
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45.

~ Who of the following is the industrial philanthropist ?

(1) FE.W. Taylor (2) Henry Ford
(3) Max Weber (4) Lawrence Appley

46. Which of the following is not a feature of business ?
(1) Exchange of goods and services (2) Exchange on regular basis
(3) Risk and uncertainties (4) Work for others

- 47, The four types of social responsibility include :

(1) legal, philanthropic, economic and ethical
(2) ethical, moral, social and economic
(3) philanthropic, justice, economic and ethical
(4) legal, moral, ethical and economic

48. The term of office of the “Central Consumer Protection Council” is
(1) Two years (2) Three years
(3) Five years - (4) Seven years

49. Which of the following is the characteristics of a company ?
(1) Separation of ownership from management
(2) Sensitive
(3) Creative function
(4) Dynamic

50. Who said this “Business is an organ of society” ?
(1) E.W.Taylor (2) Henry Fayol
(3) Mary Parker - {(4) Peter F. Drucker
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51.

52.

53.

54,

58.

56.

57.

An auditor is like a
(1) maddog (2) watch dog
(3) blood hound (4) greedy dog

Internal check is a part of the whole system of
(1) Internal Audit (2) Internal Control
(3) Annual Control (4) Continuous Audit

The verification of assets does not imply

(1) Inquiry into value of assets

(2) Inquiry for availability of assets in market
(3) Inquiry for existence of assets

(4) Inquiry for ownership and title of assets

Following is not a type of Audit _
(1) Health Audit - (2) Interim Audit
(3) Efficiency Audit (4) Propriety Audit

The Chartered Accountants Act was passed in
(1) 1948 _ (2) 1949
(3) 1950 - (4) 1951

What is not included as type of error ?
(1) Errors of Principles (2) Errors of Communication
(3) Errors of Commission (4) Errors of Duplication

Audit documentation is the property of
(1) the client

{2) the auditor

(3) both the client and the auditor
(4) the audit committee
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58. Which of the following is not a type of audit opinion ?

59.

60.

61.

62.

63.

(1)  Qualified opinion (2) Adverse opinion
(3) Disclaimer opinion {4) Reserved opinion

Verification of the value of assets, liabilities, the balance of reserve, provision and the
amount of profit earned or loss suffered a firm is called

(1) Continuous audit (2) Balance Sheet audit
(3) Interim andit (4) Partial audit

During the planning stages of the final audit, the auditor believes that the probability of
giving an inappropriate audit opinion is too high.

How should the auditor amend the audit plan to resolve this issue ?

(1) Increase the materiality level (2) Decrease the inherent risk

(3) Decrease the detection risk (4) Increase the inherent risk

Vouching of the balances of all income and expenses account is known as vouching of
(1) Personal ledger (2) Impersonal ledger
(3) Cash \ © (4) Sales

The auditor of a public compariy shall be appointed by
(1) the Government company "~ (2) the Central Government
(3) the shareholders (4) the debenture holders

The relationship of internal controls and internal check is
(1) one and the same '

(2) different

(3) internal control includes internal check

(4) internal check includes internal control
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64.

Auditor has to submit report to
(1) Management (2) Owners
(3) Government _ (4) Appointing Authority

65. Following is the right of a Company Auditor :
(1) Right to attend Board Meeting.
(2) Right to get dividend from the company being andited.
(3) Rightto seek information and explanation,
(4) Right to remove director of the company.
66. The working papers which auditor prepares for financial statements audit are
('1) evidence for audit conclusions ‘
(2) owned by the client
(3) owned by the auditor
@ owned by both client and auditor
67. Audit programme is prepared by
(1) the auditor
(2) the client
(3) the audit assistants
(4) the auditor and his audit assistants
68. In India, Balance Sheet audit is synonymous to _
(1) Annual audit (2) Continuous audit
(3) Detailed audit . (4) Statutory audit
69. The work of one clerk is automatically checked by another clerk is called
(1) Imnternal control (2). Internal check
(3) Internal audit (4) Annual audit
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70,

71.

72.

73.

74,

75.
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70. Auditing can be defined as
(1) Preparation of Account books
(2) Examination of Account books
(3) Rendering expert advice to management regarding accounting matters
(4) Detection and prevention of errors
71. Auditing begins where ends.
(1) Selling ' (2) Accounting
(3) Inventory (4) Business
72. Continuous audit is
(1) Interim audit (2) Audit at the year end
(3) Internal audit "~ (4) Regular audit
73. Vouching relates to
(1) Cashreceipts (2) Cash payments
(3) Credit transactions (4) All of these
74. Out 6f following, which cannot be termed as limitation of audit ?
(1) The auditor expresses only his opinion.
(2) All frauds are not necessarily disclosed by audit.
(3) Caution to management and employees.
(4) Audit is not servant’s honesty certificate.
75. Rights of an auditor is
(1) to take clarification . (2) to accept remuneration
(3) to conduct inspection (4) All of the above
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76.

77.

78.

79.

Which method will solve the problem of double or multiple counting in the measurement

of national income ?
(1) Shadow prices (2) Value added

(3) Imputed value (4) Controlled prices
Which of the following is not a type of inflation ?
(1) Creeping inflation (2) Demand pull inflation

(3) Consumer price inflation (4) War time inflation

Which of the following statements reflects the nature of Indian economy ?

(1) itis backward and traditional.

(2) Itis inhabited by poor and illiterate people.
(3) Itis ﬁnderdevcloped and developing.

(4) Itcontinues on the track of Hindu growth rate.

Which of the following was the main objective of Eleventh Five Year Plan of India ?
(1) To attain an average growth rate of 11 percent. |
(2) To achieve high and inclusive growth,

(3) To reduce inter-state inequalities.

{4) To curtail inflation rate at 7 percent.
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80.

NABARD is

(1) Non-banking agency for development

(2) A bank responsible for total rural development

(3) National Bank for Agriculture and Rural Development
(4) None of these

81. Recent initiatives to boost industrial production in India have a focus on
(1) Ease of doing business (2) Skill development
(3) Makein India - (4) All of the above
82. Which is the present base year for estimating GDP in India ?
(1) 1990-91 (2) 2004-05
(3) 2007-08 4) 2011-12
83. In the past few years the world has witnessed a major shift in the policies of Government
of India. Which of the following has been the most significant policy change ?
(1) Increase in the limit of FDI in various sectors.
(2) Reduction in custom duties.
(3) Increase in free trade deals with Asian countries.
(4) Removal of barriers relating to Foreign Institutional Investment.
84. 'Which of the following sector contributes maximum share to gross savings in India ?
(1) Public sector (2) Corporate sector
(3) Cooperative sector (4) Houschold sector
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85.

36.

87.

88.

89,

In which of the following years the Ncw Industrial and Investment Policy was passed m
Rajasthan ? '

(1) 1998 (2) 2000

(3) 2010 - 4) 2013

Which of the following Act has been passed by Government of India for promoting
balanced budget ?

(1) Fiscal Responsibility and Budget Management Act
(2) Gramm Rudman Holings Act

(3) Fiscal Correction Act

(4) Fiscal Efficiency Act

Which of the following objectives is related with the National Agriculture Policy, 2000 ?
(1) To achieve 4% growth rate per year in agriculture sector |

(2) Promote biodiversity

(3) Growth with equity to benefit the farmers

(4) All of the above

The contribution of public sector in India is
(1) Increase in capital formation

(2) Development of infrastructure

(3) Reduction in regional disparities

(4) All of the above

In Rajasthan which districts are included in “Desert Triangle” for promoting tourism in
the State ? '

(1) Barmer, Bikaner, Jaisalmer
(2) Jodhpur, Jaisalmer, Bikaner
(3) Bikaner, Churu, Nagore

(4) Jaisalmer, Churu, Bikaner
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90.

Which economic policy is related to public revenue, expenditure and debt ?

(1) Fiscal policy (2) Income policy
(3) Expenditure policy (4) Population policy
91. Which of the following is the maximum import item in India ?
(1) Food products (2) Petroleum products
(3) Fertilizer (4) Atomic fuel
92. The institute which calculates national income in India is
(1) Planning Commission (2) Finance Commission
(3) - Central Statistical Organisation (4) National Sample Survey
93. Raja J. Chelliah Committee is concerned with
(1) Agriculture wealth (2) Indirect tax
(3} Tax evasion (4) Tax reforms
94. In the power sector which component presently makes the maximum contribution ?
(1) Thermal (2) Atomic
(3) Solar ' (4) Wind
95. Which country at present has the highest share in total export from India ?
(1)  United Kingdom . (2) US.A.
(3) China (4) Arab Emirates
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96.

Full form of INNURM is

(1) Jawaharlal Nehru National Urban Renewal Mission

(2) Jawaharlal Nehru National Unemployment Removal Mission
(3) Jawaharlal Nehru New Urban and Rural Market

(4) Jawaharlal Nehru New Urban and Rural Mechanism

Which of the following is not an objective of Fiscal Policy ?

97.
(1) To increase rate of investment
(2) To increase buffer stock
(3) To increase employment opportunities
(4) To increase redistribution of national income
98. First Industrial Policy was announced in India in the year
(1) 1991 2) 1977
@) 1956 | 4) 1948
99. Which of the following is not a measure of human development ?
(1}  Wholesale Price Index
(2) Human Development Index -
(3) Gender related Development Index
(4) Human Poverty Index
100. The difference between GNP and GDP is
(1) Price _ (2) Tax
(3) Net income from abroad (4} Depreciation
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101,

102.

103.

104.

i0s.

106.

Leave Account is maintained for each Government servant
(1) inFormNo. 1 of Appendix IA (2) inForm No. 5 of Appendix I
(3) in Form No. 1 of Appendix III (4) inForm No. 5 of Appendix IT A

Leave Account of non-gazetted Government servant is maintained by

(1) Administrative Department (2) Head of Department

(3) Head of Office (4) Himself

A Government servant is entitled to accumulate privilege leave upto a maximum period of
(1) 600 days (2) 300 days '

(3) 400 days ' (4) 500 days

A Government servant on extraordinary leave is

(1) entitled to leave salary

(2) entitle to half of leave salary
(3) entitled to 75% of leave salary
(4} Not entitled to any leave salary

Special Disabilitg} leave may be granted to a Government servant for a period of
(1) maximum 3 months

(2) maximum 12 months.

(3) maximum 24 months

(4) maximum 36 months

For how many days, maternity leave may be granted to a female Government servant ?
(1) 200 days (2) 300 days
(3) 180 days (4) 250 days
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167.

108.

109.

110.

111.

Normally, a Government servant may remain continuously on deputation for a maximum
period of

(1) 2 years | (2) 4 years
(3) 5 years (4) 3 years

Which of the following entries does not appear in Service Book ?
(1) Date of Birth : . (2) Period of Suspension

(3) Date of Confirmation (4) Period of Casual Leave

For Wthh of the following category of employees Service Book is necessary to maintain ?
(1} Class IV servants

(2) Constables of Police

(3) Head Constables of Police

(4) None of the (1), (2) and (3)

Which Appendix Schedule the authonty which exercise the powers of a Competent
Authority under various Rules of RSR ? :

(1) Appendix IX (2) Appendix X _
(3) Appendix XI (4) None of the (1), (2) and (3)

Rajasthan Civil Services (Joining Time) Rules, 1981 are not applicable to
(1) Work-charged employee
(2) Government servant paid out of contingencies

(3) Government servant engaged on contract and those who are not in whole time
employment of Government

{4) All of the above

112, No joining time is admissible in case of temporary transfer for a period not exceeding
(1) 90 days - (2) 180 days
(3) 60 days (4 30days
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113.

114,

115.

116.

When a Government servant awaiting posting orders is transferred from one station to
another station and involving change of residence, how many days joining time (including
journey period) shall be allowed to him ?

(1) 4 days (2) 10 days

(3) 12 days _ - (4} 15 days

Where a Government servant joins the new post without availing of the full joining time
admissible to him, the unavailed period of joining time shall be

(1) lapsed ~ (2) credited to privilege leave account
(3) paidin cash (4) None of the above

Government servants paid from local funds which are administered by Government are
subject to the provisions of

{1) Chapter XIII of RSR (2) Chapter Ito X of RSR
(3) Chapter X of RSR : (4) Chapter I to XII of RSR

If a Government servant is transferred to foreign service while on leave, he ceases to be on
leave and to draw leave salary from

(1) the date of relieving from old post
(2) the date of joining of new post
(3) the date of such transfer

" {4) Nosuochrule in RSR

For how many days paternity leave may be granted and for how many times ?

117.
(1 15 days, 3 times (2) 15 days, 2 times
(3) 10 days, 3 times (4) 10 days, 2 times
118. For how many days child adoption leave may be granted to a male Government servant ?
(1) 180 days (2) 120days
(3) 90 days 4) No such rule in RSR .
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119.

Under which Article of the Constitution, “Consolidated Fund” is established ?

Series-A 45 02

(1) Art. 256 (2) Art. 266
(3) Art. 276 4) Art. 286

120. Commuted Leave means leave tal_cen under sub-rule (2) of of RSR.
(1) Rule93 (2) Rule 94
(3) Rule95 (4) Rule 96

.. 121. Superior Service means any kind of service which is -

(1) aclass IV service (2) notaclass IV service
(3) not a ministerial service (4) not a state service

122. Upper age Jimit in case of woman candidates for entry into service of Government of
Rajasthan, in general is _
(1) 40 years (2) 45 years
(3) 44 years . (4) 42 years

123. In which rule of RSR provision for suspension of lien is provided ?
(1) Rule23 B (2) Rule 12
3) Rulel7 (4) Rule 105

124. Which rule of RSR provides that “Leave cannot be claimed as right” ?
(1) Rule 59 (2) Rule 60
(3 Rule5 (4) Rule23

125. Which rule of RSR provides action against a Government Servant for wilful absence from
duty 7
(1) Rule92 (2) Rule 104
(3) Rule 86 (4) Rule 222
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126. In which ‘part’ of GF&AR, delegation of financial powers to various authorities have
been prescribed ?

(1) Part-I - (2) Part-II
(3) Part—10 | (4) Al the parts

127. In which ‘Form’ statement of error in classification of revenue/receipts detected by
departmental officers which require correction-in the accounts is forwarded to the
Accountant General through the Treasury Officer concerned ?

(1) GA15 | (2) GA-16
(3) GA-17 | @) GA-18

128. Rule 41 of GF&AR provides for anangement of 1ntema1 check/audit in ‘the sub-ordmate _
offices in respect of

(1) expenditure | 2) recelpts _ _
 (3) expenditure and receipts both. (4) No such arrangement under Rule 41

129. Unless authonsed what is the 1 maximum amount which can be received in cash by an
 office on account of Government dues or other money ?

1) %10,000 (2) %5,000
(3 T1,000 C(4) T500

130. In case original ‘receipt’ for money deposited into Government office is lost by depositor,
then the Government office can issue a

(1) Duplicate ‘receipt’
(2) Copy of ‘receipt’
(3) Certificate of receipt of payment, without charging any fee

~ (4)  Certificate of receipt of payment, on payment of prescribed fee
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131. In which ‘Form’ a cash book is required to be maintained by a Government servant
receiving money on behalf of the Government ?

(1) GA-47 2) GA-48
(3) GA-49 4) GA-50

132. When a Head of office should verify the cash balance in the cash book and record a signed
and dated certificate to this effect ?

(1) At the end of each week (2) At the end of each month
(3) Atthe end of each quarter (4) At the end of each year

133. In which rule of GF&AR, duties of cashier are given ?
(1) Rule 58 (2) Rule 69
(3) Rule 60 ' 4) Rule6l

134. In whom financial powers of State Government vests, which have not been delegate to
any other department or authority ?

(1) Finance Department
(2) Accountant General
(3) Director, Treasuries and Accounts

(4) Treasury Officer concerned

135. In which rule of GF&AR provision relating to ‘Lapse of sanction’ has been provided ?

(1) Rule70 (2) Rule7l
(3) Rule72 - (4 Rule75
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136. “All cheques will be got printed by

from Government Security Press. - will
be the Central Treasury for keeping stock of all these cheques and maintaining record.”
Choose appropriate set.

(1) Finance Department; Treasury Ajmer

(2) Accountant General; Treasury Jaipur (City)

(3) Director, Inspection Départment; Treasury Jaipur (City)
(4) Director, Treasuries and Accounts; Treasury Jaipur (City)

137. In which rule of GF&AR, provision relating to preparation and form of bills has been provided ?
(1) Rule78 (2) Rule79
(3) Rule 80 (4) Rule8l
138. When a “Letter of credit” shall lapse ?
(1) At the close of financial year in which it is issued.
(2) At the end of three months from date of issue.
(3) Atthe end of six months from date of issue.
(4) At the end of one month from date of issue.
139. As a general rﬁle, what is the amount for which a cheque is not to be issued by a
Government office 7
(1) Less than ¥ 10,000 ' (2) Less than ¥ 5,000
(3) Less than ¥ 1,000 (4) Lessthan ¥ 100
140. Rule 255 of GF& AR relates to
{1) Sanction to refunds (2) Classification of refunds
(3) Procedure for refunds (4) Validity of refund order
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" 141,

142.

143.

144.

145.

For how many months an order for refund of revenue shall remain in force, from the date
of issue ?

(1) One month (2) Two months
(3) Three months ' (4) Six months

In which rule of GF&AR the procedure to be observed for the payment of compensation

for land taken up for public purpose is provided ?

(1) Rule 252 (2) Rule 258
(3) Rule 279 | : (4) Rule 281

In which of the following cases submission of utilisation certificate is necessary for the
grants released 7

(1) Incases of Panchayat Samities for grants released for specific purposes
(2) Incases of Panchayat Samities for grants released for general purposes.
3 In cases of Panchayat Samities for all grants released.

(4) Incases of Panchayat Samities for all grants released on or before 31-3-1970.

Rule 292 of GF&AR relates to
(1) Scholarships : (2) Stipends
(3) Discretionary Grants (4) Duties of Sanctioning Authority

In which rule of GF&AR, instruction to be strictly observed by sanctioning authorities are -
provided for sanction and payment of grant-in-aid to public bodies, institutions or
statutory bodies ?

(1) Rule 286 (2) Rule 287
(3) Rule 288 (4) Rule 289
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146,

147.

148.

149,

Under which Article of the —Constitution, ‘Contingency Fund of the State’ is defined ?
(1) Art. 266(1) ' (2) Art. 266(2)
(3) Art. 267(1) (4) Art. 267(2)

In which ‘Form’ monthly liability statement is prepared by sub-ordinate officers, to be
rendered to controlling officer ? '

(1) GA-19 (2) GA-27
(3) GA-21 4) GA-22

Internal check of accounts maintained in the offices of Heads of Department is conducted
by the Director, Inspection Department. Serious irregularities, if any, found will be
intimated to the

(1) Accountant General

(2) Treasury Officer concerned

(3) Finance Depart'ment-and Administrative Department concerned
(4)  Accountant General and Administrative Department concerned

In which Rule of GF&AR, the general principles to be observed by the sub-ordinate
authorities empowered to enter into contract or agreements involving expenditure from
public funds are given ?

(1) Rule 17 (2) Rule 18
(3) Rule 19 (4) Rule 20
150. In which Appendices, duties and responsibilities of Accounts Officers, Assistant Accounts
Officers, Accountants and Junior Accountants are given ?
(1) Appendix 4 and 5 (2) Appendix 2 and 3
(3) Appendix 1 and 2 (4) Appendix 6 and 7
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